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Electricity: Capacitors Problems I
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I. Simplify the following electric circuits and answer the following. 
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Electrostatics: Electric Potential and Capacitance problems
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L. Answer the following problems.

1. If charges q;= 4x10°°C and q;=-6x10"°C are stationary, calculate the potential at point A in the tigure below:
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2. How much work would it take to move a charge q=+1x10"°C from point A to point B (the point midway
between q; and qp)?
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Il. For the following circuits, determine if it's a series or parallel circuit and calculate the total capacitance.
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Type of circuit: _______________________



Type of circuit: _______________________

Total Capacitance: _____________________


Total Capacitance: _____________________
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Type of circuit: _______________________



Type of circuit: _______________________

Total Capacitance: _____________________


Total Capacitance: _____________________







